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N.B 1. Question No.1 is compulsory , allePt any fh:ce out of |Lm.nmnb C]ULSHOI]S
2. Draw neat and proportionate sketches wherever applicable.
3. Use of IS 800:2007 and stecl-{able is permitted. :
4. Assume suitable data if nuumuy nnd justify (hb same.

Q1la) A trussis provided over an nulubnml bmldm,ﬂ in thevicinity of Mnmhm as
shown in Figure -1:(a) Calculate panel.Point load for DL,LL and WL 'to 32 %
design member AH BC,AP apd PO for'the following data :
Inclination ﬂf:ooi with horizontal = 15°
Span of Truss-16 m , Spacing of truss : 4m
Self weight of purlin -200 N/m
Weight of AC sheets=170 N/m?,
K;=1.0,K3=0.98 Ki=1.0 and (Gon- cp,) -0.8
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Q1 b) The ﬂoonng system of an industrial shed is planned as shown in Figure -1 (b) 32
Design beam. SB1 ,MB1 and beam.to beam' connectlon between them with
top flange of beam at same level ; Use followmg data :
’Thxckness of slab -150 mm Thlckness of wall -200 mm
-~ Height. of wall is, I: 3 m overzbuter beams Unit welght of concrete and brick
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Q2a) Design a laced column 6.2 m }ong\b carry factored axidl load of 1000 kN. 10
The column is restrained in posi i but not m directionsat both the -ends. Us,t,
2 channel section placed as back@ back DIa\\ neat b‘\tl\.h qhomn o dem\\ of
connection. Use 16 mm dlameter bolts . A ; :

\

Q2b) Design a slab base for a\mlumn lSIIB 300, U‘ 618 N/ ~.ub|ulcd to an 06
factored axial bompress\a\e load of $ 900 kN where the loadis transferred to the
base plate by direct hearing of QUlUm“ ﬂdﬂgt\ 1hL ‘base rests on concrete

pedestal of grade M’G 2% i :
o A 7
Q3a) A column NHB‘:*O @ 7LCN m; camu a Lumud axial load of ](\()()W 10
Calculate 0\’1_Y the sxze “and ﬂnc}me“ of thc gu:suul base, mummg M20

concrete tzrade T Y % Va

Q3b) Deiermme the demgn axial load on the column section ISMB#40Q, given that 06
the hexght of the column is 3.5 m and that it is pin- endnd Assumu fy = 250

\mm Lfu= 416hmm E 2\<10 N/mm?
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Q4a) Deblgn a ﬁllet W eld toxcomect a 10 mm th]ck brac l\\ to the ﬂ’mgv. ofa X 08
“"column [Refer Flgure 4(a)] . ;
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welded plate glrder of span 12 m is subjected to DL of 20 16
20 kN/m excludmg self weight, it is also subjecled to two
: 600 kN at4 m from both the supports. The girder is simply
ported, at the ends~ and fully restrained at both the ends against lateral
#ﬁ 1s ughom the span.;.. o AW

gn-the crosskse,cnou, pmvxde a check for shear buckling, and design

@ ng strength, \’ Hf
L Load'factor as. I\S and f, -2,’50 Mpa.
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